, (a) Percentage changes due to SPPT (global)

o

Percentage change

Percentage change

|
N
|

1.23 (= 0.25)
0.89 (+ 0.15)

0.15 (+ 0.13)
0.01 (= 0.01)

|
=
1

|
N
|

-0.78 (= 0.17) -0.75 (= 0.11)

-1.35 (= 0.12)
-1.63 (= 0.24)

(b) Percentage changes due to ISPPT (global)

N
|

4.75 (£ 0.27)

1.99 (+ 0.10)

1.19 (+ 0.08) 0.62 (+ 0.20)
0.47 (= 0.14)

-0.03 (= 0.01) -0.23 (= 0.14)

-2.60 (= 0.16)

3_(c) Percentage changes due to LAND (global)

Percentage change

1.32 (%= 0.20)
0.92 (= 0.11)

0.55 (+ 0.16)

.

0.41 (= 0.10) 0.38 (+ 0.17)

-0.05 (= 0.00) -0.03 (= 0.12)

-0.96 (= 0.13)

T2M E TCW LCC MCC HCC TCC CLW



